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SOCIOLOGY

( General )

( Introduction to Sociology )

( Non-CBCS )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Choose the correct answer from the

following : 1×7=7

t°∫π ö≈̄óŒ≥Ë“π öπ‡ «°á˝° l°¸v°πÏi°‡ §‡[· l°¸[∫*Ø‡ :

(a) The book, What is Sociology? is written

by whom?

What is So ci ol ogy? ≈„»¢A° N¯îÇJ> ÎA°‡Ï>
[∫[J[·∫?

(i) Peter Berger/[öi°‡π §‡\¢‡π

(ii) Plato/Îö√i°’

(iii) Alex Inkeles/&Ï∫G “¸>ÙA°Ï∫·

(iv) Anthony Giddens/&îÇ[> [KÏÉX
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(b) _____ coined the term ‘primary group’.

_____& ëö¯‡=[≥A° ÎK‡i°í ≈¶[i° Îö‡>ö¯=≥§‡ππ §‡Ï§
"‡K§ÿn°‡“¸[·∫°˙

(i) P. A. Sorokin

[ö. &. W°íπí[A°>

(ii) Ferdinand Tonnies

Û°‡[l¢°>‡r° i°[>·

(iii) C. H. Cooley

[W°. &“¸W°. AÂ°Ï∫

(iv) Auguste Comte

"‡K ° A°íi°

(c) “Sociology is a science of interpretative

understanding of social action.” Who

said this?

ëëŒ≥‡\t°w “í∫ Œ‡≥‡[\A° [y˚°⁄‡π §∏‡J∏‡öËo¢ §Â\[>π &A° 
[§`°‡>°˙íí &“ ̧ l°¸[v°˚°Ïi°‡ A°‡π?

(i) Auguste Comte

"‡K ° A°íi°

(ii) MacIver and Page

Î≥A°"‡“¸Æ°‡π "‡πÁ° Îö\

(iii) H. M. Johnson

&“¸W°. &≥. \>W°>

(iv) Max Weber

Î≥G ÎØ§‡π
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(d) “Man is a social animal.” Who made this 

statement?

ëë≥‡>Â“ “í∫ &A° Œ‡≥‡[\A° ö‡̄o„°˙íí &“̧ l°¸[v°˚°Ïi°‡
ÎA°‡Ï> "‡K§ÿn°‡“¸[·∫?

(i) Rousseau

πÁ°Ï·‡

(ii) Auguste Comte

"‡K ° A°íi°

(iii) Aristotle

&[π °íi°∫

(iv) C. W. Mills

[W°. l°‡[§√l°¸. [≥∫·

(e) Social unit with which an individual

does not identify is the

_____ “í∫ &i°‡ Œ‡≥‡[\A° ÎK‡i° ô‡π ∫Kt° §∏[v°˚°Ï⁄
[>\A° [W°>‡v°°̊ >A°Ïπ°˙

(i) quasi-group

"ã¢-Œ≥Ë“

(ii) primary group

ö¯‡=[≥A° Œ≥Ë“

(iii) unorganized group

"Œ}K[k°t° Œ≥Ë“

(iv) out group

§[“@ Œ≥Ë“
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(f) Which among the following is an

example of community?

t°∫t° l°¸Ï¿[Jt° ÎA°‡>Ïi°‡ &i°‡ Œ¥flÉ‡⁄π l°Ȩ́‡“πo?

(i) Family

ö[π⁄‡∫

(ii) Marriage

[§§‡“

(iii) Village

KÚ‡*

(iv) Refugee camp

Æ°K>„⁄ É∫

(g) Positivism is the famous work of

ö¯t°∏¤°§‡É “í∫ _____π [§J∏‡t° A°‡≥°˙

(i) Auguste Comte

"‡K ° A°íi°

(ii) Max Weber

Î≥G ÎØ§‡π

(iii) Saint-Simon

ÎW°ñi° [W°≥>

(iv) Herbert Spencer

“‡§¢‡i°¢ Î—ö>W°‡π
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2. Answer any four of the following : 2×4=8

t°∫π [ô ÎA°‡Ï>‡ W¡à[¹i¡à ö¯≈óπ l°¸v°π [É⁄‡ :

(a) Mention two natures of sociology.

Œ≥‡\t°wπ ÉÂi°‡ ö¯Aı°[t° l°¸Ï¿J A°π‡°˙

(b) What do you understand by

assimilation?

ŒÉı≈„A°πo §Â[∫Ï∫ [A° §Â\‡?

(c) What is deviance?

ö=∞ ° §Â[∫Ï∫ [A° §Â\‡?

(d) Define social group.

Œ‡≥‡[\A° Œ≥Ë“π Œ}`°‡ [É⁄‡°˙

(e) What is role?

ÆË°[≥A°‡ ≥‡Ï> [A°?

3. Answer any three of the following : 5×3=15

t°∫t° [É⁄‡ [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

(a) Differentiate between institution and

association.

Œ}—Ç‡ "‡πÁ° ŒîÇ‡π ≥‡\π ö‡=¢A°∏Œ≥Ë“ [∫J‡°˙

(b) State the relationship between sociology 

and anthropology.

Œ≥‡\t°w "‡πÁ° >ıt°w[§`°‡>π ≥‡\π Œ¥öA¢° ÎÉJÂ*Ø‡°˙
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(c) Write about the characteristics of tribal

society.

\>\‡t°„⁄ Œ≥‡\π Ì§[≈ °∏Œ≥Ë“ [∫J‡°˙

(d) Write briefly about the scope of

sociology.

Œ≥‡\t°wπ ö[πŒπ Œ¥öÏA¢° W°≥ÂÓA° [∫J‡°˙

(e) Write about the functions of religion.

ã≥¢π A°‡ô¢‡Ø∫„π [§»Ï⁄ [∫J‡°˙

4. Answer any three of the following : 10×3=30

t°∫π [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [É⁄‡ :

(a) Write about the intellectual and social

backgrounds of the emergence of

sociology. 10

Œ≥‡\t°wπ l°¸x‡>t° Î§Ô[á˝°A° "‡πÁ° Œ‡≥‡[\A°
Îö¯¤°‡öi°Œ≥Ë“π [§»Ï⁄ [∫J‡°˙

(b) What is socialization? Discuss about the 

agencies of socialization. 2+8=10

Œ‡≥‡[\A°„A°πo [A°? Œ‡≥‡[\A°„A°πoπ ö¯[t°[>[ãŒ≥Ë“π
[§»Ï⁄ "‡Ï∫‡W°>‡ A°π‡°˙

(c) How is industrial society different from

post-industrial society? Discuss by

giving suitable examples. 10

+ÏÉ∏‡[KA° Œ≥‡\ l°¸v°π-+ÏÉ∏‡[KA° Œ≥‡\π öπ‡
ÎA°Ï>ÉÏπ öı=A°, l°¸É‡“πoŒ“ §∏‡J∏‡ A°π‡°˙
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(d) What is social control? Write about the

agencies and mechanisms of social

control. 2+8=10

Œ‡≥‡[\A° [>⁄î|o [A°? Œ‡≥‡[\A° [>⁄î|oπ ö¯[t°[>[ã t°=‡ 
l°¸ö‡⁄Œ≥Ë“π [§»Ï⁄ [∫J‡°˙

(e) Define culture and describe its main

elements in detail. 2+8=10

Œ}—Aı°[t°π Œ}`°‡ [É⁄‡ "‡πÁ° “¸⁄‡π ≥ÂJ∏ l°¸ö‡É‡>Œ≥Ë“π
[§»Ï⁄ §“∫Æ°‡ÏØ "‡Ï∫‡W°>‡ A°π‡°˙
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